TRACK AND \XYHEEL GEARBOXES

H\X/G SERIES
TECHNICAL DATA
Max. input Max. braking Starting Hydraulic
speed pressure torque pressure motors
rom bar Nm

HWG 07024 7 1+24,71 500 200 420 =20 45
HWG 07025 7 1+25 500 200 420 =20 45
HWG 10023 10 1+ 23,36 500 200 450 220 60
HWG 18106 18 1+ 106,81 1.500 250 450 =20 A2FE56/63 150
HWG 24130 24 1+130,33 1.500 250 450 =20 A2FE56/63 125
HWG 36139 36 1+139,86 1.450 250 700 =20 A2FE80/90 175
HWG 50184 50 1+184,24 1.450 250 700 =20 A2FEB80/90 225
HWG 60140 60 1+140,43 1.450 250 800 =20 A2FE107/125 250
HWG 60170 60 1+170 1.450 250 800 =20 A2FE107/125 250
HWG 80185 80 1+185,35 1.450 250 650 =20 A2FE160/180 375
HWG 110214 110 1+214,86 1.450 200 800 =20 A2FE160/180 500

» Compact two, three or four-stage planetary gearboxes

 Cageless planetary gear bearing

* Optimized seals

* Robust main bearing
* Integrated multi-disc parking brake

* Optional for mounting fixed motors A2FE
« Optional with wheel drives: mechanical disconnecting device

« Easy oil change
* Easy mounting

* Low-noise operation

HYDROSTATIC TRANSMISSIONS

tel. +39 0536.194.55.60
fax +39 0536.194.02.80

www.hydromobil.it
info@hydromobil.it




TRACK AND \XYHEEL GEARBOXES

DRAWINGS
HWG 07024
240
72 145
8-M12 13 23 |19 9-M12
20
ZZZEF/ZZ
2_G1/2" G1/4' Q, k
E2Sg = |
A e o N e
ol
BRIy Sl E
\H/ \ 0wl o & ! L Sl - o
@l oggy o gl EE
B el el & L L el e| e
TTTT———1
Hﬂ\_
HWG 07025
18.9 30
1_6>
1 o e
I SESS
] 14.5+0.5 I7
g. . ‘ I —
o |o o
Ho| H 2 A@* -I-»: +
S o9 — Pl )
2|8 8 ¢ — HIEERS
elel|el 9 5 } el e
e
7.5 B
102 =
{ &
105.9 139.8
L 265.9

tel. +39 0536.194.55.60 www.hydromobil.it
HYDROSTATIC TRANSMISSIONS fax +39 0536.194.02.80 info@hydromobil.it




TRACK AND \XYHEEL GEARBOXES

DRAWINGS
HWG 10023
267.5
72 158
12-M16X2 18 [ 20 25 |18 Cor1ox2
- &
T |
G1/4" ]
e Y
FI-1 rl ‘ ‘ ‘ o ?;
58| 8| bl HEB- -
e| e| & | R : el e| e
Jub ]
77777 ::":_:" ‘ J
T
HWG 18106
63 82 203
16-M20 1520 25_115  16-M16
—.
M12X1.5
M~
.
> g
© A .
9@ ’/JK\ co‘fr’;
S| | I A—— 1. 1 HEE
e| el e < , L ce\‘ g 8
§ AN e
. -
IDNN2
\ e
/ /// , \\ | ki |
\E //\l%j B
/ _ :m‘\
-36-

HYDROSTATIC TRANSMISSIONS

tel. +39 0536.194.55.60
fax +39 0536.194.02.80

www.hydromobil.it
info@hydromobil.it




TRACK AND \XYHEEL GEARBOXES

DRAWINGS
HWG 24130
53 82
16-M20 14| 20 26118 20-M16
|
M12X1.5
M~
—
o .
[t} g \< [t}
=] I =LA o
slgl & e [ 8l2l2
[s2] [e\} [eV} AN M| ™M
e | e o ’< ) J [SIRCARS]
< N -
\> N |
\ e A
CON
N ] |
7 B} .
S
HWG 36139
52.5 90 259
31 |20 28 125  20-M16X1.5
16-M20 =
mwn/ 7@
M12X1.5
o %

S| e % ] -
glgl 8 s 7 =
D™ N . 111 N N I | I T T I | Q3 8
e o e /l' Pz » | ™

< - ) | sl o 6
N /
% N /
>, \%/’
F XU
- 1 h :/‘:
[~ X Tj

HYDROSTATIC TRANSMISSIONS

tel. +39 0536.194.55.60
fax +39 0536.194.02.80

www.hydromobil.it
info@hydromobil.it




TRACK AND \XYHEEL GEARBOXES

DRAWINGS
HWG 50184
110 272
2830 20-M20X1.5
24
24-M20X1.5 =
o i
M12X1.5
/ Z
© N =
s | e / 2 {
# |2 - - o| o ©
i | 0| o ®
ggg | 23 ¢
IS HEBRN < - L
e|e|8 " Ve
N
y \\//
F& XN
+ /gg N
iM[
HWG 60140
53 114 283
" 35 |30 20-M20
20-M20X1.5 25| 30 =
[
ﬁmn/ Dﬁ
G1/4' —
o
0 ® e 0
5 < 5
H 2 /_A 2| =
o|lo|o pd | o| o o
358 - B - - R
e|e|e < Y I e| el e
N
N
e
L7
—i . /J
L7 - [
,:ﬂ\ 7#
-38-

HYDROSTATIC TRANSMISSIONS

tel. +39 0536.194.55.60
fax +39 0536.194.02.80

www.hydromobil.it
info@hydromobil.it




TRACK AND \XYHEEL GEARBOXES

HWG 80185
148 296
35 | 30 20-M24
20-M24 22|40,
773
\-_/
_M12X1.5
-
0
o p 2
[Te) — e :
5 S iE
a2 — gl g
2122 pd S | I - g g g
<| <t ™ P
el el e Y /
<\ \\\ /,//
N,
X
/ . AN | |
e -, N
\j/:?/’ \\ —
’--\
HWG 110214
491.5
165 305
45 33130 36-M18X1.5
24-M24 | |=——
1 22
] — T
—
£
u"’. l&’“{/ 2hg 5_"
9l e S 25
o (=] o o|lolo
S| ©| —— — - - - g 33
Yol < < - < | W0|w
e| e|e S elele
/4
. \
45 | T
-39-

HYDROSTATIC TRANSMISSIONS

tel. +39 0536.194.55.60
fax +39 0536.194.02.80

www.hydromobil.it
info@hydromobil.it




